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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Write the answers to the following
questions : 1x7=7

OF TR Ted ol ¢

(a) Give the 1st law of thermodynamics.

Sisaifs e daw Sacst frat|

Contd.



(b)

()

(d)

(e)

Define the thermodynamic system.

wieaife Resig war ket foradl |

What are ‘buffer solution’ ?
YR T & 2

What happens when acetylene gas
passes through red hot iron tube ?

e #NT Tey (TR AIE GRHEREw (o I
faee & oo 2

Name the product in IUPAC when
ethyl bromide is treated with Na-metal
in dry ether ?

T TR Toifow uam 4ot ice 2z
Fwizes Riem sR feet Tesiw @ @SR
AN IUPAC s&fow ot |

What happens when a secondary

alcohol passes through a heated
(300°C) Cu-tube ?

AT 300°C @ Te® Cu-dR WEE
GRe vz I Tt [ g B
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)

Write the molecular formula of
3-oxohexane.

3-SR I SRS 1o Tt
Answer the following questions : 2x4=8
O eMPTIRN Ued el
(aA) Why is acetic acid less acidic in

(b}

(d)

CH;COONa than in NaCl solution ?

a5 @foe’, CH;COONa &e SifFTel
NaCl 57t 3% 792

Define the adiabatic and isochoric
processes.

SRR SR ASIReN T AR T’

Write the Reimer-Tiemann’s reaction.

I-BiEww RiEFE fran

What do you mean by Syl reaction ?
Give one example of it.

syl-Rie wiw & 3@ 2 R b T
G
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3. Answer any three of the following :

ool Ricicat fofabrs Tex foral ¢

(@)

(b)

(c)

(d)

(e)

5x3=15

Discuss the Friedel-Crafts alkylation.
eIt el RiGAIs 3@ 35t

What is Wittig reaction ? Discuss the
mechanism.

"foet Rieem & ¢ afemis 3@ =11

Write the differences between Sy2 and
Syl reactions.

SN2 W% Sy1 RfEFR sifermR

State and explain the zeroth law of
thermodynamics. Show that
Cp - CV= R .

SivifeeiE e @'t FR g =i |
Cp~ Cy=R #fsgiol 71|

Calculate the solubility of Mg(OH),
in mol L1, if K, of Mg(OH), is

5x 10712 at 208 K.

Mg(OH),-3 Ky I WA 298K Wweore
5x 10712 T, Mg(OH),-3 WNTel We/
e R <=1
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4. Answer the following questions : 10x3=30

OO RIS TR Tl ¢

(@) How can 1°, 2° and 3° alcohol be
distinguished by Victor Meyer’s test ?
10

o33 o wfowagaEt 19, 2° &R 3°
Goe'TER Ay [ Fdfm slka ¢

Or/s1%<!

(p) Show the method of preparation of
alkyl halide from the following :

2% x4=10
woTS TMAPTTRR o[l e (RS e 4Fe
A 2
() From methane

fiems st

(ii) From ethanol

IR o[l

(iii) From propene

afoa sl

(iv) From chloro or bromoalkane
T I IVGEI 7
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() How does carbonyl compound react E : (v)
with ammonia derivatives ? Write the
mechanism of the reaction by giving

different examples. 10 _
GIRIR IR e ddRE dim R e)
@ee 96 ¢ Riew Tied @@y Rfemm
PR ,
Or /9144t | (@)
(d) Write the following reactions : 2x5=10
were i RifRraPRRE i 2
(i) Haloform reaction @ 6
e R

(i) Aldol condensation reaction

GeTe 'S Ttede fRfdEl .
(i)
(iii) Wolff-Kishner reduction

Ter-fogee R

(iv) Oppenauer oxidation

SINGAR T

Diazotization reaction

Tz [

Derive Gibbs-Helmholtz equation.
5

Ap-cETE® TR Af oo |
Show that PV’=constant. S
eql @ PV = 43|

Or/<194q!

Mention the factors affecting
ionisation of electrolytes. Write
briefly on ‘buffer solution’. S

Rgye-Ree M SR PR
TR =9 | APR 7 RIw o T

Derive Kirchhoff’s equation. S
LT AT TGl |
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